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MATHEMATICS

2
xli?i‘zf(x) where f(x)=1im(x +7t) is

-1\ t+7
53 51
A) — B) —
® ® 7
-53 -51
O — D) —
© D

The number of prime factors of (3x 5)]2 (2x 7)° (10)25 is

A) 47 (B) 60
©) 72 - (D) 94

How many % s are there in 37% ?

(A) 300 (B) 350
(C) 400 (D) 440

If Ram gains 70 paise on Rs.70, then Ram’s gain percent is

(A) 0.1% B) 1%
©) 7% (D) 10%

If f(x)=x"+5x"+29x+7, then in (~0,0)

(A) f(x) is strictly increasing (B) f(x) has alocal maxima
(C) f(x) is strictly bounded (D) f(x) is bounded

The smallest number to be added to 1000 so that 45 divides the sum exactly is

A 10 (B) 35
©) 20 (D) 80
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10.

11.

12.

The HCF ofi 2 E and ﬂis

10° 257 35 40

3 5

A = (B) 552
3 63

©) 2300 (D) 200

If  is a non-real cube root of unity and (l+a)2 )" = (1+w“)ﬂ , then the least

positive value of n is

(A) 6 B) 5
<€) 3 D) 2

For every x,x” +2ax+(10 ~3a)>0. Then the interval in which 'a' lies is

(A) 2<a<s B) a>5
©) -5<a<2 D) a<-5

If f(x)=sinx+cosx; g(x)=x*~1, then g(f(x)) is bijective in the domain

@ [o.7] ®) [~§§J

ols]  wps
If A= (Z 2) and [4°|=125, then the value of & is

83 3

If f(x) is differentiable and strictly increasing, then the value of
NGRION

lim——m————_— {5

x—0 f(x)_f(o)

A 2 B) 1
© o D) -1
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13.

14.

15.

16.

17.

2 2

2
If P9, -1and g—+-11+—c—=0,then -’%+—Z—;+% is equal to
a c

a b c p q r

A 0 B) 2
© 1 D) 3
The value of ‘L’l———x—dx 1S
sV1l+x
A) -1 @) 1
V.4 n

If the line 2x++6 y =2 touches the hyperbola x* =2y =4, then the point of
contact is

@ (-2.6) ® (-52¥6)
©) (%71—6—) @) (4-6)

The area enclosed between the curves y =ax’ and x = ay*(a>0)is 1 square
unit. Then the value of ‘a’ is

A (B)

-

©) 1 D)

W= N

The sides of a triangle are in the ratio 1:4/3:2. Then the angles of the triangle
are in the ratio

(A) 1:3:5 B 2:3:4
(©) 3:2:1 D) 1:2:3
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18.

19.

20.

21.

22.

The area of the triangle formed by the lines x+ y = 2; x-axis and x =1 is

A 2 B) 1

© 3 ® 5
If x>0, then {/ﬁ is equal to

@A) Jx (B) %

©) % (D) x

The locus of a moving point originating from (1, 1) whose slope varies twice
as the ordinate is

A) y=2x-1 B) y= e ?

(C) y=l+logx (D) y=l+sinzx
A function f(x) satisfies f(x+y)=f(x).f(y), V x,y with f(1)=3 and
if(x) =120. Then the value of 'n" is
x=1

A) 4 (B) 5
©) 6 (D) 10

The equation ,z,z - 2,2, +1=0 has

(A) no solution

(B) only one real solution

(C) two complex conjugate solutions
(D) infinite number of solutions
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23. The value of(l+i\/§}l7+(l~i\/§]” is
2 2
(A) 67 cos(17 tan™ («/g )) (B) 67 sin (17 tan™' (\/-5_ ))
©) 672 tan (17cos"1 («/g )) (D) 67 cos(17 sin”' (\/-5- ))

24.  The roots of the equation (z - 2)" +49=0 are

(A) 2+7i and 7+2i (B) 2-7i and 7+2i
(C) 2+7i and 2-7i (D) 7+2i and 7-2i
25. a+2i and 2+ fi lie on the circle x* + y* = J53. Then the maximum value
of a—p is
@A) o B) 7
C) 14 (D) 21

20\ Zz

26. lim (i) in the direction of the line y =7x is

7 7
A) 1-——i BY —-—i
@) 1= ® 227
7 7
i D) l+—i
© 5 @) I+
10
27. The value of lim z_+1 is
=il 28 +1
5 5
A) — B) =
A) 4 (B) 3
5
©) 5 D) 5
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28.  The value of the integral | log(17z+29)dz is
lzl=3
17
A) zero B) —
A) (B) 39
17 17
C) —i D) -—
©) 25 ) S
: _ costz . .. .
29.  The residue of the function —— at its finite pole is
z
1
A) 1 ®) =
2
© 0 © -
2
30.  The transformation @ =z’ +z has
(A) three fixed points (B) two fixed points
(C) one fixed point (D) no fixed points
31.  The fixed points of the transformation z> —z are
(A) 0,0 B) 02
© 1,0 D) 1.2
32. A bi-linear transformation which has no finite fixed point is
z>+1 z+1
A B) ——
@& 55 ®
1
- D) z+17

©)
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33. A bi-linear transformation which has only one fixed point is
z+1 z+3
A B
&) z+3 ®) z+1
z-3 z—1
C D
© z—1 @) z+3
34. A bi-linear transformation which takes the points 2 and 7 respectively
to 0 and oo is
4 == ® 2
z-17 z-17
~2V z-7
o |Z D
©) ( z— 7J ®) z-2
35.  The minimum value of 3tan’ §+12cot” 6 is
(A) 6 B) 15
(C) 243 (D) None of the above
_1
36. For the function ¢ *, z= is
(A) apole (B) aremovable
(C) an essential singularities (D) aregular point

37. The angle between the images of the lines x = 2 and y =7 under the function
f(z)=2"+3z at f(2+7i)is

(A) 0 ® =
4
V4
© 3 D) EY
38. The locus of a complex number z such that Rez = |z - 1| is
(A) parabola (B) hyperbola

(C) eclipse (D) circle



39.

40.

41.

42.

43.

. tan x . .
If f(x)=(x+sin x)™", then the value of 11_r}r(1)f(x) is

/4 1

A) — B) —

(A) (B) 2

<o 1 (D) 0

1 —bsi
If lin:n) x( +acos f) smr_ 1, then the value of b—a is

X—> by

(A) 2 B) 1

© o D) —2

If log(i:;j‘j =Y ax",

n=1

1 .
x|<—, then a, is
7

335 334
(A) = B) >
© 9% D) 5

If sinx = Zan (x—%) then the value of a, —a, is
n=0

11 13
D ® %
15 17
© u ® %

5
If x° +2x* —x* +x+1= a,(x+1)", the value of a, +a, +a, is
n=0

A 3

©)

1

(B) 2
(D) 0
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44.

45.

46.

47.

48.

49.

The angle  between the  asymptotes of the  hyperbola
(3x+y—1)(x-—3y+3)+7 =0 is

(A) 30° (B) 45°
(C) 60° (D) None of the above

s 4_ .5
If u(x,y)=3_xa_+%y_2_§—3— , the value of xg—u+y%;-l- at the point (1,1) is
X’ —4x* +5y x

1
A)y - B) -—
(A) 2 (B) >
1
C) 0 D) ——
©) (D) >
2 2
If f(z)=u+iv= 2* +3z2 —14 , then the value of _8__1;+§_L2¢ is
ox" dy
A) 3x° ®) 3y
< 3 D) 0
sinA4 cotd 1
If A+B+C =, then |sin’B cotB 1{=
sin?C cotC 1
A o (B) 2
<o -1 (D) None of the above

The value of j{(cosx — xcos y)dy —(siny+ ysinx) dx} over a closed curve C

is

(A) 0 (B) x.cosy
(C) y.sinx (D) 3

A particular integral of the equation y"+2y'+y=5is

A 0 @) 1
< 2 (D) 5
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50. Ifa+b+c=0, then axh =
(A) Txa (B) ¢
(C) 2bxc (D) axc

51. If %+y—x=0 withy(O):l,then y(x) is

(A) 2e"+x-1 B) 2¢F—x+1
©) 2 +x+1 D) 2" -x-1

52. Given I [%] = \/; , then the value of F(g) 18

5 3
(A) Z‘/; (B) Z‘/;
Jr Jr
C) 1= Dy X%
©) 5 (D) 2
A
53.  The value of jsins 6dao is
]
35 357°
A) — B
(A) 256 ®) 256
35 357
) — D) —=
© 128 D) 128
A
54.  The value of Icos7 da is
0
16 167
A) — B —
(A) 3s (B) 35
8 8
© —= D) —

35 35
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55.  Ify"+4y=0,with y(0)=0 and y(%)=1,then y(x) is

(A) cos2x (B) sin2x
(C) 2cos2x (D) 2sin2x

56. If f(x) =—§—1, then f(3x) is equal to
x—

3f(x) 3 (x)
@ 37G)-1 ® 37R)-3
© %;% (D) 3f(x)-1

) 2 _
57. The radius of convergence of the seriesZ( nz 1 .x"j is
o \n

+1
Aa) 1 B) 2
<o 3 (D) 4

58. A line makes angles 30° and 60° with the y and z axes respectively. Then the
angle made by that line with the x-axis is

(A) 30° (B) 45°
(C) 60° (D) 90°

59.  The angle between the line joining the points (8, 2, 0) and (4, 6,—7) and the
line joining the points (-3, 1, 2) and (-9,-2, 4) is

af 2 . 2
(A) cos (-6—3] (B) sm (63)

a2 a2
(C) cos (63] (D) sm ( 63)
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60. The angle between the lines 3 = 1 = 0 and the plane x+2y—-7=0 is

A) 0 (B) 45°

© 60° (D) 90°
61. The lines £=z_-|£=z_+1 and -)-C-_—3=Z=Z—_1

1 2 3 2 1 -1
(A) are parallel (B) intersect at (1,1,2)
(C) intersect at (1,—1,2) (D) are perpendicular

62. The lines x+y—-3z=0, 2x+3y—-8z=1and 3x-y-z=3,x+y-3z=5

(A) are parallel (B) are perpendicular
(C) intersect (D) intersect at (1,2,1)

63.  The angle between any two diagonals of a cube is

a1 a1
(A) tan (—3—] (B) sm (EJ
el A1
(C) cos (3) (D) cot (3)

64.  The line joining the points (-2,3,6), (5,2,7) and the line joining points
(0,-1,-2) (14,-3,0) are

(A) perpendicular (B) parallel
(C) skew (D) same

65.  The 4 points (1,1,0),(1,2,1),(-2,2,-1) and (1,—1,-2) lie on the plane

(A) 2x+3y-3z=5 (B) 2x-3y+3z=5
(C) 2x-3y-3z=5 (D) 2x+3y+3z=S5
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66. The equation to the plane through the intersection of the planes
x+y—z+3=0, 2x—y+z—1=0 and passing through the point (1,-1,2)is

(A) 2x+5y+5z+13=0 (B) 2x+5y-5z+3=0
(C©) 2x-5y-5z+13=0 (D) 2x-5y-5z-13=0

67. A girl is looking at the mirror straight from the origin. Her image is at the
point (12,4, —3). Then the equation of the mirror (taken as a plane) is

(A) 12x-4y-3z=169 (B) 12x-4y-3z=144

©) 12x-4y-3z=-169 D) 12x-4y-3z+144=0
2 2 2 2 2
68. The 10™ term of the series 1+1 +2 +1 +2 +3 +.... 18
1+2 1+2+43
A 7 B) 11
© 15 ® 3

69. If A4 and B are idempotent matrices, then 4+B will be idempotent if

(A) AB=0 (B) BA=0
(C) AB=BA=0 (D) None of the above

70.  The unit vectors perpendicular to ai and aj are

A

A) 2k B +k
© ok (D) +ak

2 2
71. If(1+i+—1—+....J =K+(l+l+—1—+....J , then the value of K is
2! 41 3t 5!

A) 3 (B) .2
©) 1 (D) 0
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72.  The coefficient of x'® in the expansion 1+

73.

74.

75.

76.

(l_x)+(1_x)2 +(1_x)3 o 1
1! 21

is
3!

e 2e
A) — B) =/
@) Toor ®  Too
3e 4e
C) — D) ——
© 100! D) 100!
¥ 4 2
The coefficient of x* in the expansion (1+_2—'+I+" J is
228 229
A) — B) 2
&) 291 ®) 29!
©) 29 (D) 0©
The sum of the series l+z+—32-+i3.... is
3 3 3
5 7
A) — L
(A) 4 B) 7
9 11
C —_— —
© 4 (D) 2
1 (1Y 1Y (1Y .
Ifk+{3-2+3.——4| = | +5|=| —6|—| +....|=27, then the value of & is
3 3 3 3
(A) 4 (B) 16
©€) 64 D) 256
7x) (7x)" (7x)
The series 1+( x)+( x) +( x) + e
1 2! 3!
(A) converges for all (B) converges if |1 <1

(C) diverges for all x (D) oscillates
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77.  The series l+l(lj +l(lj +
' 3 313 53
(A) converges to log2 (B) converges to
1 : '
(C) converges to ZlogZ (D) diverges
78. (a—x b ) x€ lies on the plane containing the vertices
(A) @ and b (B) @ and
(C) bandc (D) a,b an
2 3
79. The value of l—2.—1—+3.—22-—4.2—3+5.2;—.... is
2 3 3 3 3
3 7
A) — BY —
(A) o B) 0
9 11
) — D) —
© 50 ®) 50
1
80.  The value of lim (l—ﬁ-jx is
x>0\ ] —x
A e ®B) €
1 1
© - D) —
e e
81. If ! =a+bx+....then a+b is
2x+7
2 3
A) — BY —
) 49 ®) 49
4 5
C) — D) —
© 49 ®) 49

2log?2
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&3.

84.

85.

86.

&7.

16
i sinh x
=0 log(1+ x)
A 0 (B) 1
<€ 2 D) 3

When x is large enough and if Vx> +16 +vVx* +9 =1+ax+...

of ‘a’ is
7
(A) Y ®B) o
7 1
© 2 D) s

The curve y =x* —6x’ +12x* —8x is convex upwards in

A) (—oo,1) ®) (-2-1)
© (12) D) (2,)

. |
If x=¢", then the value of x"7 +— is
x

., then the value

(A) 2sinl78 B) 2cosl176

(C©) 2cotl78 (D) 2tanl76

sin 56 .4 . 2 .
If ——=asin" 8+ fsin“ 8+y , then the value of a+ S+ is

sin

A) 0 ®B) 1

<) 2 ® -1

. 3sinx-sin3x
The value of lim
x>0 x[cos x - cos 3x]

A 0 B) 1
© 2 D) -1
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88. Iftan”'(a)+tan™'(B)= Z _ then the value of | 2= L s
4 1-af
A -1 @B 0
G 1 ®) 2
to ©

89. If ((i)i ) =a+if then the value of &’ + B is

@ & ® e
| -
©€) e™ D) —e
1 2 3 4
90. The rank of the matrix [3 1 0 3| is2. Then the value of 'k' is
5 4 3 &k
(A) 3 B 2
© 1 D) o
91.  The vectors (2,3,k); (1,2,0) and (8,13,k) are linearly dependent. Then the
value of k is
A) 3 ®B) 3
2
©) 1 D) o
92.  The vectors x, =(2,~1,0); x, =(4,1,1); x, =(8,~1,1) are linearly dependent.

Then the relationship between these vectors is
B) 2x-x,-x,=0

(A) 2x,+x,+x,=0
D) 2x-x,+x,=0

©C) 2x+x,-x=0
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94,

95.

96.

97.

98.
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The system of equations3x, +x, — Ax, =0, 4x, —2x, —3x, =0, 2x, + x, - x, =0
and 21x, +4x, + Ax, = 0 possesses non-trivial solutions. Then the values of 4
are

(A) -9,1 B) -9,-1
©) 9,-1 D) 9,1

The system of equations x,—x,+x=0,x+2x,—x,=0 and
2x, +x,+3x, =0 has

(A) aunique non-trivial solution  (B) infinite numbers of solutions
(C) no non-trivial solutions (D) None of the above

The system of equations 2x+y+3z=1 x—y+2z=-3;4x—y+7z=k are
iconsistent. Then the value of k is

(A) =-5 (B) #-5
© =0 (D) %0

The system of equations x+y+z=a; x+2y+3z=b and 3x+5y+7z=c
has a one parameter family solution, then

(A) ¢c—a-2b=0 B) c+a-2b=0
©C) c—a+2b=0 D) c+a+2b=0
3 4 4

Two eigen values of the matrix | | -2 4| are 2 and 3. Then the cube of the
1 -1 3
third eigen value is

A 1 (B) 0
©) -1 (D) -8

If the characteristic equation of a matrix is 4’ —64*+51+12=0 then the
sum and product of its eigen values are

(A) 6,12 B) 6,-12
©) -6,12 D) -6,-12
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300
The sum of the squares of the eigen valuesof |8 4 0 is
6 2 5
(A) 87 B) 74
(C) 64 (D) 50

If the square of one of the eigen values of a matrix is zero, then the matrix is

(A) singular (B) upper triangular
(C) lower triangular (D) invertible

The matrix corresponding to the quadratic form 2xy+2yz +2zx is

0 0 0 1
A [0 1 0 B) (1 01
0 01 1 0
2 00 01
© |0 2 0 D) |0
0 0 2 110
111
The quadratic form corresponding to matrix |1 1 1]is
111
(A) Y+ +2xy (B) Py 4ty +yz+ax

©C) X4y’ +27+2xy+2yz+2zx (D) 2x742y* +22% +xy+ yz +2x
If A is an eigen value of matrix A, then A is also an eigen value of the matrix

A 4

(B) Adj(4)

(C) B7'AB for any invertible matrix B
(D) B” AB for any matrix B
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106.

107.

108.

109.

20
21 5
For the matrix A={0 0 7 | A42—aA=0. Then the value of « is
0 0 2
A) 4 B) 3
© 2 O 1
The value of |e™ cos7¢dt is
0
1 2
A) — B =
(A) 53 (B) 3
3 4
) — DY —
© 5 (D) 53

«©

If _[e" coskt dt = Elg , then the non-negative value of & is
0

A 0 (B) 4
< 8 (D) 16

Let (G,*) be any group in which (a=l=b)2 =a* *b* holds for all a,b then G is

(A) an associative group (B) acommutative group
(C) aring (D) an associative ring

G is a group having 29 elements and S is a proper sub group of G . Then the
number of elements of S is

A 1 B) 2
< 9 (D) 29

For the group of 4™ roots of unity a sub group consists of elements

@ {Li) ®) {L-i}
© {1,-1) @) {i,-i}
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110. Ina group of 4™ root of unity the order of the element —1 is

A 1 (B) 2
© 3 (D) 4

111. Let G be any group and a € G. Then the set {a”/neZ} is

(A) asubsetof G

(B) asub group of G

(C) asubset but not a sub group of G
(D) neither a subset nor a subgroup of G

112.  The value of I( yzdx—2x2dy) along the parabola y = x* from (0,0) to (2,4)

is

48 24
A < B) =
24 -48
© = ® 5

113. The field F=(y2c3sx+zz)?+(2ysinx-4)7+(3x22+2)1¥ is

(A) solenoidal (B) conservative
(C) rotational (D) None of the above

114, If in the interval O<x<z,sinx=2-23% OS2

3 the value of
7T e 4n -1

———+——... s
1.3 35 5.7

G

(©) %(sz (D) —’25(1+%]
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115. If xyz=¢(x+y+z) , then

(A) z(x—y)%+x(y—z)%=z(z—x)

oz
oy

© *-DFry(z-7=7(x-)

(B) y(Z—x)gz;+Z(x—-y) =x(y-z)

Oz Oz
(D) x(y+z)a—y(z+x)-a;=z(x+y)

116. The volume of the solid formed when the area between y* =4ax and

x* = 4ay is rotated about x-axis is

487a? 967xa’
A B
(A) . (B) .
32ra’ 167a’
C D
©) . D) s

117. One of the solution of the equation (y2 + zz)(%— xyg}z—) +zx=0is
x

A *=o B) x=¢z
©C) y=c,z D) y=cx

118. If the surface area of a cube is decreased by 19%, the volume of the cube
decreases by

A) 9% (B) 19%
©) 27.1% (D) 382%

119. The smallest number with exactly 10 proper divisors is

(A) 52 | (B) 60
©) 72 (D) 80
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120. The sum of all odd integers larger than 100 and less than 1000 is

(A) 247500 (B) 495000
(C) 990000 (D) 1100000

121. The value of @ such that the planes ax+y+z=0; x+3z=0and 5y+6z=0
have a line in common is

11 1
@ < ® 5
11 11
© D) -5

122. If 1 is added to the denominator of certain fraction it becomes % and if 1 is

) ) 1 ..
subtracted from the denominator it becomes 5 . Then the fraction is

(A) (B)

© (D)

win Old
Wlm 0o|lWw

123.  The sum of two integers is 88. If the greater number is divided by the smaller,
quotient is 5 and the remainder is 10. Then the integers are

(A) 22,66 B) 13,75
©) 15,73 (D) 14,74

124. If 2cos® @ = cos? 45° +sin30° then sec’ a is

(A) ®) V2
© 2 @) 1

-
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125. The value of sm44+sm46 is
cos46 cos44
A) 0 B) 2
(C) sin22° D) cos22°
3 3
126. 15 L then X s
X -y y
4 5
A) — B =
(A) 3 (B) 3
7 8
c = Dy =
©) 3 (D) 3

127. If a,b are the roots of the equation 4x> —5x+4 =0 then the equation whose

roots are a®,b’ is

(A) 16x*-7x+16=0 B) 16x*-7x-16=0
©) 16x*+7x+16=0 D) 16x*+7x-16=0

1 29
128.  The value of the integral I(log l) dy is
Y
0

(A) 30! (B) 29!
(©) 370!\/; (D) -222\/2

129. If the Laplace transform of the second derivative of a function f(¢) with

f(0)=a and f(0)=pis

S

> , then the function is
s°+1

(A) a+(B+1)t-sint (B) a-(B+1)t+sint
(C) a+(B+1)t+sint (D) a—(B+1)t—sint
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o «©

sin7x

130. If Istxdx:E , then the value ofj- dx is
e X 2 5 X

n T

A) — BY =

(A) 7 B) 5

T T

Cc) — D) =

©) p (D) 5

131. If the mean and variance of a random variable X are 50 and 4 respectively,
then Var(2X -3) is

(A) 16 (B) 4
© 1 ®

is zero because

132.  The value of the integral 5 >
27 (2-2) (z-2)

(A) isnot analytics at z=2 (B) has a residue zero at its pole
(C) is analytics inside |z - 2| =7 (D) is a meromerphic function

133. If M and N are invertible matrices, then

(A) M + N isinvertible B) M-Nis inyertib]e
(C) MN is invertible (D) M-N" is invertible

134. If the Laplace transform of the second derivative of f(¢) is and

f(0)=a £ (0)=8,then f(¢)is

s
s2+1

(A) a+pt+cost
(B) o+ ft+sint
(C) f(¢) does not exist because f(¢) may not be continuous

(D) f(¢) does not exist because f " (¢) has no Laplace inverse
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135. If a die is rolled three times the probability that each roll will result in a
number larger than the previous roll is

12 18
A) — BY —
) 216 ®) 216
20 24
) — D) —
© 216 (D) 216

136. The mean and variance of a binomial distribution are 4 and -g- respectively.

Then P(X 21)=
727 728
A) — B ==
@A) 728 ® 729
726 726
C) — D) —
© 728 (D) 729

'137.  If X has uniform distribution in (~1,3) and Y has exponential distribution
with parameter A , the value of A such that Var (X)=Var(Y) is

@ 2 ® =
2
© & (D) ?

138.  For Bernoulli distribution with probability p of a success and g of a failure, the
relation between mean and variance is

(A) mean < variance (B) mean > variance
(C) mean = variance (D) mean < variance
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140.

141.

142.

143.
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If a point is selected at random inside an equilateral triangle of side length 3,
then the probability that its distance to any corner is greater than 1 is given by

&) 1+ ® 1-Z
53 W3

oy 1+42Z (D) None of th

©) A ) None of these

A sample space consists of 3 points with associated probabilities given by
2p,p’ and 4p—1. The value of p is

A J11-3 B) -JV11-3
©€) V1+3 D) -J11+3

A coin is tossed till head appears for the first time. The probability that the
number of required toss is 1 is given by

A) 1 B)

2

©) (D)

Blw N[—=

The diameter of the electric cable X is a continuous random variable with the
pdf f(x)=hkx(1-x),0<x<1. The value of kis

(A) (B) 6

1
6
5 (D)

(V3 o

1
The point of inflection of the curve y =x3 is

a) (0.0) ®) (11)

© (2,25J (D) (3,3?J
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145.

146.

147.

148.
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The limit of the function f (x, y) = —% is % along the path
Xty

A) y=x B) y=2x
© y=x (D) Sy—-4x=0

Which of the following is NOT an assumption of the Binomial distribution?

(A) All trials must be identical.

(B) All trials must be independent.

(C) Each trial must be classified as a success or a failure.
(D) The probability of success is equal to 5 in all trials.

The probability that a certain machine will produce a defective item is -‘II . Ifa

random sample of 6 items is taken from the output of this machine, what is the
probability that there will be 5 or more defectives in the sample?

1 3
A) —— B) ——
(A) 4096 (®) 4096
4 19
) — -
© 4096 ®) 4096

Suppose 60% of a herd of cattle is infected with a particular disease.
Let ¥ = the number of non-diseased cattle in a sample of size 5. The
distribution of Y is

(A) Binomial with n=5and p=0.6
(B) Binomial with n=5and p=0.4
(C) Binomial with n=5and p=0.5
(D) Poisson with 1 =.6

Suppose the probability that a cross between two varieties will express a
particular gene is 0.20. What is the probability that in 8 progeny plants, two or
fewer plants will express the gene?

(A) .2936 (B) .3355
©) .1678 (D) None of the above
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149. The value of |e™Fdr is
Q
1 2
A) — B) =
(A) > (B) 7
3 5
) — D) —
© 29 D) 29

150.  The bilinear transformation which transform 2,10,29t0 0, o, 1 respectively is

z=2 19( z-2
&) z-10 (B) 57(2—KJ

27( z-2 29( z-2
© TE(z—lo) (D) TE(z—lo)

ok % %k





